<xml xmlns="https://developers.google.com/blockly/xml">
  <variables>
    <variable id="rRjKdr%#k,GRCXH-!6YL">Türen offen</variable>
    <variable id="=s.r0=js(I-t@N0tW`p$">Türen</variable>
    <variable id="1zuldOin}9jIL5*{N#Xl">Ausgabe</variable>
  </variables>
  <block type="on_ext" id="1Wt7:xaEQU`C)a$*+tRK" x="163" y="-88">
    <mutation xmlns="http://www.w3.org/1999/xhtml" items="3"></mutation>
    <field name="CONDITION">ne</field>
    <field name="ACK_CONDITION"></field>
    <value name="OID0">
      <shadow type="field_oid" id="t`ljk8R3I,NYe$1IDW|t">
        <field name="oid">alias.0.Türen.Carport.ACTUAL</field>
      </shadow>
    </value>
    <value name="OID1">
      <shadow type="field_oid" id="HyBSO.Y]V,-q!XSafHPP">
        <field name="oid">alias.0.Türen.Haustuer.ACTUAL</field>
      </shadow>
    </value>
    <value name="OID2">
      <shadow type="field_oid" id="9zNwl8m+k/|EA5K=VeCO">
        <field name="oid">alias.0.Türen.Hauswirtschaftsraum.ACTUAL</field>
      </shadow>
    </value>
    <statement name="STATEMENT">
      <block type="variables_set" id="R!qS+rTRm~,[z)DPNAcK">
        <field name="VAR" id="rRjKdr%#k,GRCXH-!6YL">Türen offen</field>
        <value name="VALUE">
          <block type="math_number" id="yHHT0Lsg%4Vk_1OBiu]x">
            <field name="NUM">0</field>
          </block>
        </value>
        <next>
          <block type="variables_set" id="v^])d=EZ{{Z5/6TR;!@4">
            <field name="VAR" id="=s.r0=js(I-t@N0tW`p$">Türen</field>
            <value name="VALUE">
              <block type="text" id="p6+vY22O9z_0UN5rHeX?">
                <field name="TEXT"></field>
              </block>
            </value>
            <next>
              <block type="controls_if" id="MbFQSe7G8L.}22Dac9l{">
                <value name="IF0">
                  <block type="logic_compare" id="L|W3_*2wZzIF9mT{|JtK">
                    <field name="OP">EQ</field>
                    <value name="A">
                      <block type="get_value" id="qk9V8A%dSx.`A+U2#hEw">
                        <field name="ATTR">val</field>
                        <field name="OID">alias.0.Türen.Hauswirtschaftsraum.ACTUAL</field>
                      </block>
                    </value>
                    <value name="B">
                      <block type="logic_boolean" id="zc*@M4BF#r@iMJ_i][v-">
                        <field name="BOOL">TRUE</field>
                      </block>
                    </value>
                  </block>
                </value>
                <statement name="DO0">
                  <block type="variables_set" id="_?mJ;_vPI@=QTM}0:PUo">
                    <field name="VAR" id="=s.r0=js(I-t@N0tW`p$">Türen</field>
                    <value name="VALUE">
                      <block type="text_join" id="EAf:OQS/[7`{}5vQL]Hp">
                        <mutation items="3"></mutation>
                        <value name="ADD0">
                          <block type="variables_get" id="X%V2*N8C/JSIyq4BPmg^">
                            <field name="VAR" id="=s.r0=js(I-t@N0tW`p$">Türen</field>
                          </block>
                        </value>
                        <value name="ADD1">
                          <block type="time_get" id="AIE5}ScK]PB/yYCY:F4C">
                            <mutation xmlns="http://www.w3.org/1999/xhtml" format="true" language="false"></mutation>
                            <field name="OPTION">custom</field>
                            <field name="FORMAT">\n</field>
                          </block>
                        </value>
                        <value name="ADD2">
                          <block type="text" id="1.%F%_ww~z5ptd80[vRn">
                            <field name="TEXT">Tür Hauswirtschaftsraum offen</field>
                          </block>
                        </value>
                      </block>
                    </value>
                    <next>
                      <block type="math_change" id=",f~|F(.lC(`v^*`idWk!">
                        <field name="VAR" id="rRjKdr%#k,GRCXH-!6YL">Türen offen</field>
                        <value name="DELTA">
                          <shadow type="math_number" id="^lgxz%|8X2SS[%P?erRJ">
                            <field name="NUM">1</field>
                          </shadow>
                        </value>
                      </block>
                    </next>
                  </block>
                </statement>
                <next>
                  <block type="controls_if" id="Wzf%?FP7A@,Arj*HWI=`">
                    <value name="IF0">
                      <block type="logic_compare" id="s|G6o-fW)x[?[a;j!1bN">
                        <field name="OP">EQ</field>
                        <value name="A">
                          <block type="get_value" id="BoXz`2jV1,_AfUImbp-!">
                            <field name="ATTR">val</field>
                            <field name="OID">alias.0.Türen.Carport.ACTUAL</field>
                          </block>
                        </value>
                        <value name="B">
                          <block type="logic_boolean" id="D9)IPV3`Y)Bs(fLY?K8@">
                            <field name="BOOL">TRUE</field>
                          </block>
                        </value>
                      </block>
                    </value>
                    <statement name="DO0">
                      <block type="variables_set" id="=oCRo@[^yw4|-r1)0Bp+">
                        <field name="VAR" id="=s.r0=js(I-t@N0tW`p$">Türen</field>
                        <value name="VALUE">
                          <block type="text_join" id="9]}o3ki([~w52T`8/@9/">
                            <mutation items="3"></mutation>
                            <value name="ADD0">
                              <block type="variables_get" id="Bjhc@@!}-)0Ai,b2Zh*p">
                                <field name="VAR" id="=s.r0=js(I-t@N0tW`p$">Türen</field>
                              </block>
                            </value>
                            <value name="ADD1">
                              <block type="time_get" id="+#g/W[42NTEWb]FXTmPv">
                                <mutation xmlns="http://www.w3.org/1999/xhtml" format="true" language="false"></mutation>
                                <field name="OPTION">custom</field>
                                <field name="FORMAT">\n</field>
                              </block>
                            </value>
                            <value name="ADD2">
                              <block type="text" id="I!i}=ck:71RGQk4z6fZY">
                                <field name="TEXT">Tür Carport offen</field>
                              </block>
                            </value>
                          </block>
                        </value>
                        <next>
                          <block type="math_change" id="WK%n/Iv^f)MPm/:DFVi_">
                            <field name="VAR" id="rRjKdr%#k,GRCXH-!6YL">Türen offen</field>
                            <value name="DELTA">
                              <shadow type="math_number" id="Kb5W;%7,^`0M*OWyV?Px">
                                <field name="NUM">1</field>
                              </shadow>
                            </value>
                          </block>
                        </next>
                      </block>
                    </statement>
                    <next>
                      <block type="controls_if" id="4~:Rx6d*]aViV}M^Q=_t">
                        <value name="IF0">
                          <block type="logic_compare" id="k;rh3!{,!ohMDTQJX5gp">
                            <field name="OP">EQ</field>
                            <value name="A">
                              <block type="get_value" id="^{hDY.h`0*Ky~5A}5GD*">
                                <field name="ATTR">val</field>
                                <field name="OID">alias.0.Türen.Haustuer.ACTUAL</field>
                              </block>
                            </value>
                            <value name="B">
                              <block type="logic_boolean" id="{xndx[p0ltQS.}LO}W=N">
                                <field name="BOOL">TRUE</field>
                              </block>
                            </value>
                          </block>
                        </value>
                        <statement name="DO0">
                          <block type="variables_set" id="i6fsvY31ahRfkqlg[B_;">
                            <field name="VAR" id="=s.r0=js(I-t@N0tW`p$">Türen</field>
                            <value name="VALUE">
                              <block type="text_join" id=".u-!bD3J.l;mP(Sqev!Z">
                                <mutation items="3"></mutation>
                                <value name="ADD0">
                                  <block type="variables_get" id="kZ*wh80N[n:}}=E/cU~1">
                                    <field name="VAR" id="=s.r0=js(I-t@N0tW`p$">Türen</field>
                                  </block>
                                </value>
                                <value name="ADD1">
                                  <block type="time_get" id="4|=jhKC6^jbkL(7q^o%2">
                                    <mutation xmlns="http://www.w3.org/1999/xhtml" format="true" language="false"></mutation>
                                    <field name="OPTION">custom</field>
                                    <field name="FORMAT">\n</field>
                                  </block>
                                </value>
                                <value name="ADD2">
                                  <block type="text" id="{?HYa7Nd9=z#A#qxz~je">
                                    <field name="TEXT">Haustür offen</field>
                                  </block>
                                </value>
                              </block>
                            </value>
                            <next>
                              <block type="math_change" id="fHngdPjFEtO!E:63eg35">
                                <field name="VAR" id="rRjKdr%#k,GRCXH-!6YL">Türen offen</field>
                                <value name="DELTA">
                                  <shadow type="math_number" id="*`OS[H)4`HA;8vUi%9%h">
                                    <field name="NUM">1</field>
                                  </shadow>
                                </value>
                              </block>
                            </next>
                          </block>
                        </statement>
                        <next>
                          <block type="controls_if" id="d^%RDVu5eD1j/6HcL-s_">
                            <value name="IF0">
                              <block type="logic_compare" id=")4(8TKVP#hwAe4_[@7[Z">
                                <field name="OP">NEQ</field>
                                <value name="A">
                                  <block type="variables_get" id="Y,Tvg3aLY%`f2f^RzI2A">
                                    <field name="VAR" id="rRjKdr%#k,GRCXH-!6YL">Türen offen</field>
                                  </block>
                                </value>
                                <value name="B">
                                  <block type="math_number" id="4tVag`RaB-.gyLnc!R=(">
                                    <field name="NUM">0</field>
                                  </block>
                                </value>
                              </block>
                            </value>
                            <statement name="DO0">
                              <block type="variables_set" id="#8iN6`wNMEv-crKC#SEd">
                                <field name="VAR" id="1zuldOin}9jIL5*{N#Xl">Ausgabe</field>
                                <value name="VALUE">
                                  <block type="text_join" id="xneC33?C!#[aur_@3d+*">
                                    <mutation items="5"></mutation>
                                    <value name="ADD0">
                                      <block type="text" id=".,^wrC?YOX4)~gnxS-*%">
                                        <field name="TEXT">Es sind </field>
                                      </block>
                                    </value>
                                    <value name="ADD1">
                                      <block type="variables_get" id="x0ej~uHKKvH}52KWCE5a">
                                        <field name="VAR" id="rRjKdr%#k,GRCXH-!6YL">Türen offen</field>
                                      </block>
                                    </value>
                                    <value name="ADD2">
                                      <block type="text" id="2E|d5oLI3vKw4q3sbR#_">
                                        <field name="TEXT"> Türen offen</field>
                                      </block>
                                    </value>
                                    <value name="ADD3">
                                      <block type="time_get" id="At4LN55|n:zM.V,zWN;N">
                                        <mutation xmlns="http://www.w3.org/1999/xhtml" format="true" language="false"></mutation>
                                        <field name="OPTION">custom</field>
                                        <field name="FORMAT">\n</field>
                                      </block>
                                    </value>
                                    <value name="ADD4">
                                      <block type="variables_get" id="k;n;R}N0~.!S:r@TYn.%">
                                        <field name="VAR" id="=s.r0=js(I-t@N0tW`p$">Türen</field>
                                      </block>
                                    </value>
                                  </block>
                                </value>
                              </block>
                            </statement>
                            <next>
                              <block type="controls_if" id=")Neg1vcD=0=SaP*v}jtI">
                                <value name="IF0">
                                  <block type="logic_compare" id="pYHJ2t`RdE:=LL6PD!5}">
                                    <field name="OP">EQ</field>
                                    <value name="A">
                                      <block type="variables_get" id="a(T{omnut1`.h[+Z,wq-">
                                        <field name="VAR" id="rRjKdr%#k,GRCXH-!6YL">Türen offen</field>
                                      </block>
                                    </value>
                                    <value name="B">
                                      <block type="math_number" id="a1|F.~IFO1kLPz[:pA,n">
                                        <field name="NUM">0</field>
                                      </block>
                                    </value>
                                  </block>
                                </value>
                                <statement name="DO0">
                                  <block type="variables_set" id="ArJinzx/^)4{-;nsV~/y">
                                    <field name="VAR" id="1zuldOin}9jIL5*{N#Xl">Ausgabe</field>
                                    <value name="VALUE">
                                      <block type="text" id="lLptf|`YYE|yjR%f*}m(">
                                        <field name="TEXT">Alle Türen sind zu</field>
                                      </block>
                                    </value>
                                  </block>
                                </statement>
                                <next>
                                  <block type="control" id="lwFU/bOB~nk/k(VV`g~!">
                                    <mutation xmlns="http://www.w3.org/1999/xhtml" delay_input="true"></mutation>
                                    <field name="OID">Eigene_Geräte.0.Status-Tueren</field>
                                    <field name="WITH_DELAY">TRUE</field>
                                    <field name="DELAY_MS">1</field>
                                    <field name="UNIT">sec</field>
                                    <field name="CLEAR_RUNNING">FALSE</field>
                                    <value name="VALUE">
                                      <block type="text_join" id="yC~aP3?{q7Js8w_p*AM1">
                                        <mutation items="1"></mutation>
                                        <value name="ADD0">
                                          <block type="variables_get" id="GP^tYG/5V%w;N.`I}~lS">
                                            <field name="VAR" id="1zuldOin}9jIL5*{N#Xl">Ausgabe</field>
                                          </block>
                                        </value>
                                      </block>
                                    </value>
                                    <next>
                                      <block type="telegram" id="xL{P/y[P30Uf5CNK#(j/">
                                        <field name="INSTANCE">.0</field>
                                        <field name="LOG"></field>
                                        <field name="SILENT">FALSE</field>
                                        <field name="PARSEMODE">default</field>
                                        <value name="MESSAGE">
                                          <shadow xmlns="http://www.w3.org/1999/xhtml" type="text" id="lf6K;0fM-v*N`}T7qenz">
                                            <field name="TEXT">text</field>
                                          </shadow>
                                          <block type="variables_get" id="yS[w^HFe3c9N[OKef!oy">
                                            <field name="VAR" id="1zuldOin}9jIL5*{N#Xl">Ausgabe</field>
                                          </block>
                                        </value>
                                      </block>
                                    </next>
                                  </block>
                                </next>
                              </block>
                            </next>
                          </block>
                        </next>
                      </block>
                    </next>
                  </block>
                </next>
              </block>
            </next>
          </block>
        </next>
      </block>
    </statement>
  </block>
</xml>
